REVS IATE TESCRIPTIDN
MODELS 24 GA DOOR HEIGHT SE%T?;’NS Lﬁ‘é 9/20G04 AGD LHR CPTION
. 0% 1177008t ADD 28 KSI Mift. SKil YIELD STRENGTH
CLOPAY B4A, 94, 98 UF 10 _7°0° 4 #14x5/8" SHEET 04] 02/2004 __§ ADDED EXTENDED HEIGHT MODELS
TOEAL prv=a 773" 1d 8'9" 5 METAL SCREWS T8 02,/5005__§ ADDED 98 MODEL
- 9% 10 19°6" & o GE 0772005 | UPDATED GORE, REF; REMOVED J5GA DOORS
169450 123" 7 G 07/2005 | ADDED M70 7, 75, H73
HOLMES 48, 488 12'6" Tl 14'0* g °© 1/4"%3/4" SELF 08 11/30/07 | COMBINED IDFAL, CLOPAY & HOLMES M/H
SHORT / FLUSH PANEL| 1437 10 15°9° 3 oool  APPING SCREWS 99| 07/07/08 | ADDED IMPACT RESIST, LJTES, MAX HT. WAS 17
1670° 16 10 08/14/08 | ADDED M/N 428 AND 488
MAX SECTION HEIGHT! 217 o tw 2" THICK +1] 08/2009 | REVISED FOR TO,
: FOR ANY OF THE MODELS LISTED ON THIS

EQUIVALENT SECTION CONSTRUCTION.

DRAWING, THE FOLLOWING W—LEVEL DOORS USE EQUIVALENT SECTIONS {UP TQ THE
MAXIMUM WIDTH ALLOWED ON THIS DRAWING),

W6, W7, Wa,

ANY OF THESE W--LEVELS MAY BE SHOWN ON THE OPTICNAL SHIPPING {ABEL ON
THE END STLE.

SECTION B-—-B

ENB STILES ATTACHED Ti)
IOOR SKIN WiTH PATENTED
TOG-1-LOC SYSTEM <TOP,
BOTTOM, & CENTER)

(1) INTERMEDATE STILE BETWEEN EACH EMBOSS [{3)
STILES PER SECTION AT ¢°0" WIDEL EACH INTERM.
STILE ATTACHED WiH TOG~L—~LOC {TOP & BOTTOM}
AND URETHANE ADHESIVE (ALONG CENTER})

[
e ONE ROW OF IMPACT—RESISTANT GLAZING 1N
: EITHER TOP SECTION (SHOWN() 9 \
7 NEXT-—TO-THE~TQF SECTION (NOT SHOWN).
4 Y “ o, / 7 h MAX, CLAZING SIZE IS 18-1/2" x 11",

= e GLAZING 35 INJECTION MOLDED GE LEXAN
SLXZ432T, AN APPRGVED CC2 PLASTIC IN
= ACCORDANCE WirH iBC/FBC 2606,
SEE SECTION 8~8 FOR ASSEMBLY DETALS

R S—
o SEE INFERMED. HINGE
A= Fi MOLDED GE LEXAN
wg l‘._—-—.l/ DETAL ND HINGE SIX2430T FRONT 24 GA. MIN. G~40 GALV.
It SE'%N[E, FRAME & GLAZING. STEEL WITH BAKEG—-ON
ho : POLYESTER PAINTED TOP\
o COAT APPLIED TO BOTH

%8 P o praces P e wiTst SIDES OF STEEL. .
[At . : e o " et ‘
E= . |G - Lock Posmon (BoTH WEW""“" (10) #8 x 3/4" PAN HEAD
xge = . ‘SIDES). SEE- LAYOUT OF  wnen. snie MACHINE SCREWS.
8= T 1 " EACH. LOCK FOR
& : DETAILS.

K Y — e
e e I — — msmsmm pitiig LOCK
= | wm:

' 1" oo SLDE BOLT o
R snLe B0 \ERNEAL g
f s S T sot
N o e Rl &
PTIONAL OUTSIDE KEYED ~ o s S/ A g0 sye bad
LCCK POSITION k. ikl
MAX. DOOR WIDTH = 9'-Q”
j TION REPARATION Ab TH

2x6 YELLOW PINE JAMB
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING LOCATION
THERE ARE TWQ ACCEPTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR QPENING AND 2X6 SOUTHERN
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORIING STRUCTURE TO
CREATE THE MOUNYING SURFACE, ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENYER OF SCREW
HOLE MUST BE AT LEASF %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)}IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMEB ATTACHMENT
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF
A SUFFICEENT INCREASED LtENGTH TO ACCOQUNT FOR THE THICKNESS OF THE WALLBOARD
TO ENSURE PROPER FASTENER EMBEOMENT INTO THE STRUCTURAL FRAMING MEMBERS
OF THE SUPPORTNG STRUCTURE.

j I:t/a' FROM £DGE

12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
JAMB WITH ONE 5/16"x1-~5/8"
WOOD LAG SCREW PER BRACKET.

2" GALV. STEEL TRACK
FASTENED TO TRACK BRACKETS.
EACH BRACKET ATTACHED WITH
ONZ 1/4"%5/8" BOLT & NUY
OR TWO 1/4” RIVETS.

T

2" 30 BALL STEEL

VERTICAL JAMB ATTACHMENT (WOOD FRAME BUIDINGS):

3/8"°%3" LAG SCREWS ON 24" CENTERS. t-1/8" 0.D. WASHER REQUIRED. (AG
SCREWS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

a A A A vtk
3/8"x3" SLEEVE ANCHOR BOLTS ON 22" CENTERS {2, 000 ?SI MIN CONCRETﬁ)
WASHERS INCLUDED WITH SLEEVE ANCHORS.

CR

NOFE: THE DESIGN OF THE -
SUPPORTING STRUCTURAL ELEMENTS

~~DETAIL D'

OPTIONAL. DECORATIVE

IMPACT RESISTANT
ONE—PECE INJECTION

JAMB CONFIGURATION

WiTH STEEL OR NYLON TIRE.

PREPARATION OF JAMBS BY OTHERS.

eyt

14 GA_ END HRIGES MINIERME’D_IAIE.HL&QE __—|
MIEW "B”

MULTIPURPOSE
HIGH BOND TAPE.

OPTIONAL DECORATIVE
FRONT FRAME FACADE,

STRUCTURAL SHICONE
SEALANT,

DETAIL ’D’

SNAP—IN INSERT. \

e \-uTu,

STOP MOULDING BY DOCR
INSTALLER (TC SUIT)

20 GA. MIN, GALV. STEEL END STHE
20 GA. GALV. STEEL INTER. STILE

18 GA. GALV. STEEL INTER. HINGE
FASTENED TO GENTER STHLES W/(4)
EACH #14x5/8" SHEET METAL SCREWS.

7/167 PUSHNUT INSTALLED ON RCLLER
SHAFT FOR UNRESTRICTED DOOR OPERATION.

14 GA, GALV. STEEL END HINGE FASTENED YO
END STILES W/(4) EACH #14x5/8" SHEET METAL
SCREWS & (4) 1/4" SELF TAPPING SCREWS.

ROLLER

ORIGRNAL DRAWINGS ARE ‘SIGNED 2V BLUE
M WITH A RASED SEAL (EMBOSS).

\ 12 GA. GALV. STEEL TOP

ROLLER BRACKET, EACH
BRACKET ATTACHED W/(4)
#14x5,/8" SHEET METAL
SCREWS.

/- SHIP LAP JOINTS.

14 GA. GALV. STEEL END HINGE
FASTENED TO END STILES W/(4)
FACH #14x5/8” SHEET METAL
SCREWS & (4) 1/4" SELF TAPPING
SCREWS.

[—— OPENING HEIGHT = DOOR HEIGHT

-

THIS DOOR MEETS THE REQUIREMENTS OF THE
LARGE MISSILE. SMPACT AND CYCLIC TESTING.

TS DOOR WEETS OR EXCEEDS THE DESIGN
LOADS FOR THE WIND SPEEDS LISTED BELOW
ACCORDING 7O THE FLORIDA BLDG. CODE

OR 1BC (ASCE7) FOR THE FOLLOWING
CONDITIONS: 1} £NCLOSED BUILDING, 2) DOOR
HAS 2' OF WIDTH IN BUILDING'S ERD ZONE,
3) IMPORTANCE FACTOR OF 1.0, 4) ANY
ROOF SLOPE, AND 5) 50% SAFETY’ FACTOR.

\2“1/4’&20 GA. GALY. STEEL
U-BAR. TWO U—BARS PER
SECTION, EXCEPT 3RD SECTION
WHICH HAS ONE U-BAR,
Y-5ARS MADE FROM 80 KSI
STEEL. EACH U—BAR ATTAGHED
W/(2) 1/4"%3/4" SELF
TAPPING ‘SCREW PER STILE.

WIND SPEED (MPH)| <130 [140 [ 140] 150
13 GA. GALV, STEEL BOTTOM EXPOSURE LEVEL 18 or G} B | ©] B
BRACKET. ATTACHED W/{2) MEAN ROOF HEIGHT] 30' | 30" | 28'] 30

#14x5/8" SHEET METAL SCREWS.
1HR FOP GRACKET
DOUBLE HORIZONTAL
TRACK

NOTE: TRACK CONFIGURATION

ABOVE THE DOOR OPENING
ALUMINUM EXTRUSION GOES NOT AFFECT THE WIND

& VINYL WEATHERSTRIP. LOAD RATING OF THiS DOOR.

HGRIZggg\L TRACK SUPPORT BY-# HORIZONTAL, TRACK SUPPORT BY

DUGR INSTALLER (TO SUﬂ)‘\i

NSTALLER {70 SUIT)
DOCRS GVER 8' TALL 8' TALL BOORS AND UNDER

13 GA. GALY. STEEL FLAG BRACKET,
EACH FASTENED TO WCOD JAMB WITH
{35 5/16™15/8" LAG SCREWS.

2" GALY, STEEL TRACK,
TRACK THICKNESS: 060" MIN,

13 G‘A GALY, STEEL FLAG BRACKET.
FASTENED TG WOOD JAME WITH
(3) 5/15 «1—-5/8" WOOD LAG SCREWS.

7

TP, 2-1/2"x12 GA. GALV, STEEL TRACK BRACKET,
5 TRACK ERACKETS PER SIDE (UP TO 107 HEOH;
|~ TRACK BRACKETS PER SIDE (UP TO 12" HIGH
OISTANCE BETWI

N FLAG AND YOF TRACK BRACKET
HOT TO EXCEED 30" 0.C.

D00 | s
= et v
e |

H o | 1o
H v we'

[ HEIGHT | "L”

2" GALY, STEEL, TRACK, 6'..., ;g"
MIK. TRACK THICKNESS: 060" vl

0”88

1.
1

TYP. 2-1/2"12 GA. GALV. STEEL TRACK BRACKET.
(4) TRACK BRACKETS PER SIDE.

12"=0" HIGH, TRACK
CONFIGURATION SHALL NOT
1Az (EXCEED MAXIMUM SPACING

OPENING HEGHT = DOOR REZGHT

:————1:;2'. NOTE; FOR DOORS OVER

l36'

Ve

§ 3-trar LY 1 U0 IPROVIDED. CONSULT FACTORY
1w LWEELIIE IFOR MORE DETAL IF RQD.
14707 ¢ 160
R 14'67 : 166°
[E N

Moy

15&F 178
160 | 1847

MOTE; DOUBLE TRACK LOW
HEADRGOM AVAILABLE

37 TRACK AVAILABLE AS

DESIGN LOADs: +42.0 PSF & —48.0 PSF.
HEEDER,

TEST LOADS: +63.0 PSF & —72.0 PSF.

1/4"x3" TAPCON SCREWS ON 18" CENYERS {2,600 PS1 MIN, GONCRETE) OR 10"
CENTERS (C-90 BLOCK}. 1" 0.0, WASHERS REQUIRED WiTH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) 7O PROVIDE A FLUSH
MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

NFIGURATIONS: REFER TO DASMA TDS~161. A LICENSEG DESIGN
PROFESSIONAL MAY ALS0 BE EMPLOYEDR O APPROVE ALTERNATE FASTENERS
AND/OR JAMB CONFIGURATIONS,

SHALL BE THE RESPONSIBILITY OF
THE PROFESSIONAL OF RECORD FOR
THE BUILDING OR STRUCTURE AND
IN ACCORDANCE WiTH CURRENT
BUILDING COBES FOR THE LOADS
LISTED ON THE DRAWING.

DESIGN ENGHINEER: MARK WESTERFIELD, P.EJ
FLORIDA PE, #48485,

NC P.E. #23832,

TEXAS P.E. #91513

Building Products
Company

MARUFACTORING PRODGUCT CODE MAXIMUM DOUR SIZE

MPC: PAN=-2F143

" 11/18/96

LLOPAY WINDLIOAD RATING

9'0"W x 16'0"H

8585 DUKE BLVD.
MASON, OH 45040 |P**WN BYLy
(513) 770-4800

DESCRIPTIDN:
2—IN PAN +42/-48 90 X 16-0

CHECKED BY:

Clopay Corporation All Rights Reserved,

DRAWING NUMBER: VER:
B 101702 T




